[ Efficiency vs vertpos |
0.5
£0.45

tr

I
~

................................................

0.35

................................................

efficiency vs

o
w

................................................

.................................................

T
+
—

0.950 : :
1072 107 1 2

10 0
TP vertr (cn%)

—=— DQM_original_originalvector_1000evt

— —e— DQM_original_1000evt
Efficiend . pom fitted4_1000evt

N~ 0.7

i At e S

N N R A
L R ] e e
> F . . . . .
©0.07E b | A
,0_30'07; : ! : : :
T RSty I K S ST S
C] E . . . . .
R il [HERE S S S
] R | R S | s S
R T & IR | NS

0.02F----- B | N
0.01F oo |- +{

T R T T T

1.0

Ratio

e

093~ =20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
£
50.04
$.035]
2
50.03
§.025
[J]
0.02
0.015
0.0
0.005)

H
T

®o08 6 4 20 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


